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	Unités

	
100 000 000 000
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1 000 000 000 000
	100 000 000
	10 000 000
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	100 000
	10 000
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Numération















Décomposition

60 000 000 + 5 000 000 + 400 000 + 7 000 + 300  +  20  +  8 = ___________________

(6 x 10 000 000) + (5 x 1 000 000) + (4 x 100 000) + (7 x 1 000) + (3 x 100) + (2 x 10) + 8 = __________________________
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Numération  

                              Décomposition     60   000 000 + 5   000   000 + 400 000 + 7   000 + 300  +  20  +  8 = _____________ ______     (6 x 10   000   000) + (5 x 1   000   000) + (4 x 100   000) + (7 x 1   000) + (3 x 100) + (2 x 10) + 8 = _____________ _____________  

  Milliards    Millions    Milliers    Unités simples  

Centaines  Dizaines  Unités  Centaines  Dizaines  Unités  Centaines  Dizaines  Unités  Centaines  Dizaines  Unités  

  100   000   000   000    10   000   000   000    1   000   000   000 000  100   000 000  10   000 000  1   000 000  100 000  10 000  1 000  100  10  1  

                    

                    

                    

                    

                    

                    

                    

